






RRB NTPC Stage-2 Exam Pattern

Sections No. of Questions Total Marks Duration

Mathematics 35 35

90 minutes

General Intelligence and 
Reasoning

35 35

General Awareness 50 50

Total 120 120









Find the number of triangles in the given figure.

A. 11
B. 17
C. 16
D. 18  



In which year 2011 calender will be repeated :-

किस वर्ष में 2011 िैलेंडर दोहराया जाएगा: -

(A) 2020 

(B) 2021

(C) 2022
(D) 2023



Find the missing one  (?)

CANADA :: BZMBEB
SYDNWY :: ?

A. RXOCFZ

B. OFZRXC

C. RXCOFZ

D. ZFOCXR



Find the missing one  (?)

A. 1

B. 2

C. 3

D. 4

3 5

2 6

8 1

2 4

3 8

2 6

9 3

2 1

7 ?



Find the option which should replace (?)

a2  b3  z1  c4  y26 ?

A. e6
B. d5
C. f7
D. x5



Find the option which should replace (?)

A. 7
B. 2
C. 3
D. 8



Statement :-
Some machine are kite. / कुछ मशीन पतंग हैं।

No machine is hero. /कोई मशीन हीरो नही ं है।

Conclusion:-
Some Machine are hero. / कुछ मशीन हीरो हैं।

All kites are hero./ सभी पतंग हीरो हैं।
Some kite are hero./ कुछ पतंग हीरो हैं।



Find the option which should replace (?)

8 , 3 , 0 , 5 , ? 

A. 7
B. 8
C. 9
D. 6



Find the option which should replace (?)

Z , D , H , N , ?

A. R
B. S
C. T
D. U



Find the option which should replace (?)

A. 136
B. 126
C. 127
D. 124



In a Certain code DECISION is written as
232224188181213,than find the code for RELATION?
एि किकितिोड में DECISIONिािोड 232224188181213
कलखा गया है तो RELATION िािोडक्या होगा ?

(1) 92215131218672 
(2) 91522267121318 
(3) 671812136251229 
(4) 67181213922152 
(5) 92215267181213



Find the number of triangles in the given figure.

A. 10
B. 16
C. 18
D. 14



Find the odd one out(?)

A. Eye / आंख

B. Heart / कदल

C. Ear / िाि

D. Kidney / गुदाष


